SP-I11/Chemistry/SEC-1/18
B.Sc. 3rd Semester (General) Examination, 2018 (CBCS)
Subject : Analytical Clinical Biochemistry
Paper : SEC-I

Time: 2 Hours Full Marks: 40
The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions: 2x5=10
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What do you understand by “degeneracy of genetic code”?

Mention the variation of oxidation state of iron ion in heme centre between oxyhaemoglobin
and deoxyhaemoglobin.
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What are “Type-I” and “Type-1I" diabetes?
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What does the high creatine level in urine signify?
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What are “isozyme” and “proenzyme’?
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What is “pernicious anaemia”? How can it be treated?
“sizffre srffir” S g7 Hiewt Jew w1 e
Why Kreb’s cycle is called an amphlibolic pathway?
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Differentiate between “substrate level phosphorylation” and “oxidative phosphorylation”
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2. Answer any two questions: 5x2=10

3.
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(a) How does the initiation of DNA replication begin in prokaryotes? Mention the role of
topoisomerase in this regard? 4+1=5
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(b) Define Michaelis-Menten constant (Ky). Discuss the kinetics of uncompetitive enzyme
inhibition. 2+3=5
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(c) Briefly discuss optical isomerism of lactic acid. What is “cori cycle”? 4+1=5
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(d) Write down the steps involved in Glycolysis. 5
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Answer any two questions: 10x2=20
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(a) Describe the classification of ‘enzymes’ according to their functions. How do pH and
temperature affect enzyme activity? 6+(2+2)=10
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(b) (i) What do you understand by o-helix and B-sheet structure of proteins? What is meant
by “denaturation of proteins”?
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(ii) Give the names of structural components of DNA and RNA. (4+2)+4=10
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(c) Ilustrate the “initiation” and “elongation” phase of protein synthesis (translation). What
is “peptide bond”? (4+4)+2=10
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(d) (i) Write down different components present in blood.
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(ii) Give a brief account of mechanism of blood coagulation and prevention of internal
blood coagulation in vertebrates. 3+(4+3)=10
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